2FETLF

\ L/

FB/EEEREEFFEIL— B LBEENEKRERFEAS

AEEMBEFESR

“HI6F7H22H (F) -23H (K)

- XF HfE—EX (A£3— K : 24281512) Y1 ) L BRI (IEEE T e L AR E ) (BB — K - 282040)
A = e 112 211 3 afr 5 6 fr 7 8 fir
B A
1/22 1o0m 18 AE ZRQ 13.20 EHEAT 1345 HT ER(Q) 13.46 M@ &A () 1350 @B ®hQ) 1374 RE JREE () 1386 s %K Q) 1390 @R &5 Q) 13,91
IR -3.6 EERA -2.7 %t 2.4 1ERETE -3.6 135 -2.4 % -2.7 BH 2.4 18 -2.7
7/23 200m 16 Ak BRQ) 26.03|LE EK(Q) 26.62 9T ER(Q2) 271.27 %iEm ®A Q) 27.46 %% EQ 21.58|&fE W) 28.51 RE MEBE(Q) 28.52 #t BEQ) 28.56
IR -1.5 MRk -2.8 BH& -1.5 1R -2.8 % -2.8 1R 1.5 8% -1.5 @F -1.5
1/22 400m 13 A EXRQ2) 58.84 =48 AT (2) 1:03.34 R ZTE(2) 1:04.12 @A #3Q2) 1:04.49 £ =5 (2) 1:04.50 #LE [EEQ2) 1:05.87 JIIRIZDZE(2) 1:06.90 FiU IHLE (2) 1:07.08
k IR JERRTE BT &% ERRANTE " N B
7/23 800m 7 #HA FRR(Q2) 2:32.01 @HE #EF Q) 2:33.13 | B1FF BFR(Q) 2:39.13 =8 &AEQ 2:42.16 |F0E METE(2) 2:46.98 Ef £5OQ 2:49.53 MEHEEE (2) 3:15.56
il BT R AR MR 230 IERRTE JERRTE
722 1500m 14 F) BEQ  4:50.43 @3 F4 (2  5:06.34 M3 BHEQ2)  5:11.99 k@A BKQ)  5:18.78 FE #EQ  5:19.20 BE #WEQ)  5:20.58 HEFEVAQ)  5:31.01 Al ZR@  5:43.30
Bt MBS B V8 37 KBt BEE BT MERRTE B ANERR
5 7/23 3000m 9 Fl EZE=Q2) 10:50.36 |@&H T2 10:53. 83 |#iFH @\ (2) 11:05.76 | FE #F (2 11:26.09 |5kfE HK(2) 11:45.21 KE FIF(Q 12:35.56 | #FEX0UV A (2) 12:41.58 JEA  F1Z=(2) 14:05. 27
Z B MRS B BEE 15 37 K RN JERRTE MR E
722 100mYH oo oK fERQ) 16.08 AR =4 (2) 16.70 thE H=E Q) 17.46 38 FEAZEQ) 17.72 [is% HHQ) 1916 fEH K Q) 19.45
(0.762/8. 5m) e {1} R 4 B &
723 400mH | g EE BEQ 1:08.41 A HEE(Q) 1:00.59 msh &% (Q2) 112,67 12K EHBQ) 1:114.371 RE BAKRQ) 717 &/ MEQ) 1:18.79 8 HAEQ 1:20.75 WA =5 Q) 1:21.67
(0. 762/35m) JERRTE B HERR MERRE B B A 6
Y 117/22| s000mw | 0
EELFR-E | 48.61 EEE-E & 51.40 JRERERAG-Ex B 51.66|BEA-E & 51.79 BE-E & 5.0 Bl & & 53.71 FilE-&E & 54.90 8% & =& 55.00
EHEATFQ wiE BEQ KRR (1) B =E0) BE DEQ) SEHEEM () 1= =zt >4 Q)] B EA£Q
7/22 4x100m | 14 =R BE() BA RE®) RE ER®) Sl BA Q) B &5 Q) BE AE() ELLE = 0) wE EQ
HE ZRQ BR NE®) Ex ®H5() HE BEQ) B 7 FHEE (1) EE M) aH# BERQ BE B=0)
V) sk BEQ HHE BEQ 1l B5Q) e Q) B EE(2 A EL(2) alE F£Q iE B
WREER-E | 401 5 ERHME-E B 41799 EHE-E B 0 421 46EBE-E B 2 4285 | BER-E B 4:2855 ER-&E & 4338 FEE B 4:39.31 ERRE-E & 4:40.00
EXNEE(®) KEBEE (1) EiE Q) BR NEN) BHE EE(Q) EE R JTTT=1::t 1G] RABEE ()
7/23 | 4x400m |17 HE ZRQ RE ZEH®) Bl £90) @ EEQ) B &5 Q) BE £5®0) alE F£Q #E BHW
=5 BE() 1l B5Q) x| B’A© il BEQ B 7 Z45% (1) ERATHIE (1) EILE - 30) BE #xd)
i BEQ) Ex BHE() EE BEQ i EEQ BE LEQ) EE i) B BERQ A MEFE (1)
13| £ 3 mA HEQ) 48| &L e (2) md0 2B D& Q) m25
2 ffﬁ % +4I(2) 2m30 gﬁm@n @ 1m80 e
- VN m I m
1/22 [ =S 2 s il
< 12 % iE B 19 AN EEQ o3 tE FEQ) ol fEE S Q) 487 | A FH (2 48l WiE HEQ 472 chEE BwEQ) mn2EE EBmQ) 52| TE  HEQ) 4ma
AF +4. 1|58 +2. 4 SEREENTE +2.5 BF +3.0 $EREF +2.8 JEREF +3.3 {25 +2.4 1EBRT +2.1
73 = & B 7 A EL(Q2) 10m69 % BH=E(Q) 10m55 | fafE &£ (2) 10md6 | AK  ZEH Q) omi2|mE HEQ 10m06 | MERR (2) 8mo7 EEA =X Q) 8m45
| - il +1.7 | 4ERRTE +3.0 FEE+2.9 - AT +2.1 $EREE +3.3 | 1ERE +2.9 B RIERR +1.9
13 ma 8 T=RE=30) 8m65 Freh £ (2) 99 IR XE(2) m7 & FHQ 2 B & Q) Imil /A EBE (2) 06 MEBEHE (2) 5m61
1] IEERER ERR AT B RS YERRT JERLTE
L1 maw 5 =30 28n77 |l BE (2) 27m65 ¥rep i (2) 26m09 [$RE 4239 (2) 21m40 LA #R(2) 20m77
B = nﬁr:g?éﬁ 5 IERRE MERR AR 1]
. . hil BE Q) 33m23 [ hE XE Q) 30m73
g 7/23 NoT—i% 2 B IERE TS
73wy 7 RE AP Q) 33me6 & B/ () 30mo4 & Q) 24m67 | /IVE EBE (2) 23m55 LA K (2) 18m93 |7 #ERIE () 15m90
IR &% Bt YERR R 1] IERER
FREBY - AR EE LA
SR 2% _ ERH e B - B 2E | f#: REREFFRETER # %: Kk B %=
[smazm | 738 | e BBh 32.5°C | mmm - 0.5m/s | 64% RERLSEEGS B REE: BE B
10:00 BEh 33.0C | @ #-2.5m/s  61% ERmELSERE FYIBHE il A
Bh 34.0°c | MaEAEE - 2.5m/s | 56% | & : REEESFEHRETEEAEERIBELERD T4-bE B a | 5
7H238 (k) 4 fEh 34.0°C | mEmE - 2.6m/s|  51% | B . mPEEHE
13:00 Bh 34.5°C | mAmA - 3.7m/s | 51% EETHEES
14:00 fEh 34.5°C | FIFAdE - 3.2m/s 51%
BEETE BB 34.5°C | 7 7 -3.5m/s|  50%




